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' ( 2t , - Y,
% #
3-1 %
+ .1 # 154 % :
, : 025=x5c=125m1 * -.
cV =125mn- 154 = 192,5 M,
* . :
wy=V/, = 192,5ma P
T OATT 00 T T e
4.4% -. , !
| — [k
(4} 2V 2-1925 M 0129 | 129 a
=T T a T 0208—=-(120¢)2  m 100 kM
i
!
5.1 # : , ! # o
1 1 ' . +
! y ]
X ( - !
' % ). * ' !
, ! (8) -.
! .
kv?i+ (mgsinag —ngpylv+P, =0 (25)

sin (25) ! !
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# tg
# ! A , tg ; sin .

P , %

! , #
(1) & :
! % , %
!
* 1
[, V1, V2,
2 h, sin3 /c /c 1w, c/
1 0 0| 0,014 6,85 9,73 102,734
2 1| 12 0,01| 4,05| 16,45 60,790
3 2| 22]0,0082 3,56| 18,70 53,470
4 3| 30|0,0063 3,17| 21,00 47,611
5 4| 35| 0,004, 2,83 23,55 42,459
6 6| 39|0,0007f 2,46, 27,15 36,830
7 8| 40 0| 2,39| 27,91 35,824
8 10| 41]|0,0005| 2,44, 27,38 36,526
9 12| 45|0,0039| 2,82 23,66 42,259
10 13| 50/ 0,0062| 3,17| 21,06 47,480
11 14| 56| 0,0083| 3,59, 18,58 53,819
12 15| 66]0,0118 4,77| 13,96 71,608

4-1 * %
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" # .2 67 % !

D lwm x10 —=10c " : % !
A B :
T=67m1etor % 10c =670 c= 11,2 MHHYTHI
4 #
6.1. ' , - -
y=- " %
& ) - ' - b "
% - L #
( ), X
%
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